

正負の足し算引き算 20-1

次の計算をしなさい。

(1)  $(-0.4) - (-0.7) =$

(2)  $(-0.9) + (-0.1) =$

(3)  $(+0.27) - (-0.12) =$

(4)  $(+0.42) + (-0.03) =$

(5)  $(+13.8) + (-100.7) =$

(6)  $(-97.8) - (+95.4) =$

(7)  $(-551.3) + (-739.4) =$

(8)  $(-499.1) - (+478.6) =$

(9)  $(+\frac{12}{7}) + (-\frac{6}{7}) =$

(10)  $(+\frac{12}{7}) + (-\frac{8}{7}) =$

(11)  $(-\frac{2}{9}) + (+\frac{1}{9}) =$

(12)  $(+\frac{11}{20}) + (-\frac{9}{20}) =$

(13)  $(+\frac{3}{4}) - (+\frac{5}{2}) =$

(14)  $(-\frac{7}{4}) - (-\frac{5}{2}) =$

(15)  $\frac{11}{15} + (+\frac{4}{9}) =$

(16)  $(+\frac{7}{16}) + (-\frac{11}{8}) =$

正負の足し算引き算 20-1

次の計算をしなさい。

$$(1) (-0.4) - (-0.7) = \mathbf{0.3}$$

$$(2) (-0.9) + (-0.1) = \mathbf{-1}$$

$$(3) (+0.27) - (-0.12) = \mathbf{0.39}$$

$$(4) (+0.42) + (-0.03) = \mathbf{0.39}$$

$$(5) (+13.8) + (-100.7) = \mathbf{-86.9}$$

$$(6) (-97.8) - (+95.4) = \mathbf{-193.2}$$

$$(7) (-551.3) + (-739.4) = \mathbf{-1290.7}$$

$$(8) (-499.1) - (+478.6) = \mathbf{-977.7}$$

$$(9) \left(+\frac{12}{7}\right) + \left(-\frac{6}{7}\right) = \frac{\mathbf{6}}{\mathbf{7}}$$

$$(10) \left(+\frac{12}{7}\right) + \left(-\frac{8}{7}\right) = \frac{\mathbf{4}}{\mathbf{7}}$$

$$(11) \left(-\frac{2}{9}\right) + \left(+\frac{1}{9}\right) = \mathbf{-\frac{1}{9}}$$

$$(12) \left(+\frac{11}{20}\right) + \left(-\frac{9}{20}\right) = \frac{\mathbf{1}}{\mathbf{10}}$$

$$(13) \left(+\frac{3}{4}\right) - \left(+\frac{5}{2}\right) = \mathbf{-\frac{7}{4}}$$

$$(14) \left(-\frac{7}{4}\right) - \left(-\frac{5}{2}\right) = \frac{\mathbf{3}}{\mathbf{4}}$$

$$(15) \frac{11}{15} + \left(+\frac{4}{9}\right) = \frac{\mathbf{53}}{\mathbf{45}}$$

$$(16) \left(+\frac{7}{16}\right) + \left(-\frac{11}{8}\right) = \mathbf{-\frac{15}{16}}$$

正負の足し算引き算 20-2

次の計算をしなさい。

(1)  $(+0.9) + (-0.5) =$

(2)  $(+0.4) + (-0.8) =$

(3)  $(+0.67) - (-0.35) =$

(4)  $(+0.82) + (-0.37) =$

(5)  $(+6) + (-96.8) =$

(6)  $(+46.5) + (+75.1) =$

(7)  $(+128) - (+736.7) =$

(8)  $(-338.8) - (+985.5) =$

(9)  $(+\frac{1}{4}) + (-\frac{7}{4}) =$

(10)  $(-\frac{7}{6}) + (-\frac{5}{6}) =$

(11)  $(-\frac{16}{17}) - (+\frac{13}{17}) =$

(12)  $(+\frac{7}{9}) - (+\frac{17}{9}) =$

(13)  $(+\frac{5}{4}) - (-\frac{2}{5}) =$

(14)  $(-\frac{5}{3}) + (+\frac{3}{4}) =$

(15)  $(+\frac{11}{6}) + (-\frac{5}{14}) =$

(16)  $(+\frac{1}{4}) + (-\frac{7}{6}) =$

正負の足し算引き算 20-2

次の計算をしなさい。

$$(1) (+0.9) + (-0.5) = \mathbf{0.4}$$

$$(2) (+0.4) + (-0.8) = \mathbf{-0.4}$$

$$(3) (+0.67) - (-0.35) = \mathbf{1.02}$$

$$(4) (+0.82) + (-0.37) = \mathbf{0.45}$$

$$(5) (+6) + (-96.8) = \mathbf{-90.8}$$

$$(6) (+46.5) + (+75.1) = \mathbf{121.6}$$

$$(7) (+128) - (+736.7) = \mathbf{-608.7}$$

$$(8) (-338.8) - (+985.5) = \mathbf{-1324.3}$$

$$(9) \left(+\frac{1}{4}\right) + \left(-\frac{7}{4}\right) = \mathbf{-\frac{3}{2}}$$

$$(10) \left(-\frac{7}{6}\right) + \left(-\frac{5}{6}\right) = \mathbf{-2}$$

$$(11) \left(-\frac{16}{17}\right) - \left(+\frac{13}{17}\right) = \mathbf{-\frac{29}{17}}$$

$$(12) \left(+\frac{7}{9}\right) - \left(+\frac{17}{9}\right) = \mathbf{-\frac{10}{9}}$$

$$(13) \left(+\frac{5}{4}\right) - \left(-\frac{2}{5}\right) = \mathbf{\frac{33}{20}}$$

$$(14) \left(-\frac{5}{3}\right) + \left(+\frac{3}{4}\right) = \mathbf{-\frac{11}{12}}$$

$$(15) \left(+\frac{11}{6}\right) + \left(-\frac{5}{14}\right) = \mathbf{\frac{31}{21}}$$

$$(16) \left(+\frac{1}{4}\right) + \left(-\frac{7}{6}\right) = \mathbf{-\frac{11}{12}}$$

正負の足し算引き算 20-3

次の計算をしなさい。

(1)  $(-0.9) - (+0.4) =$

(2)  $(+0.6) + (+0.7) =$

(3)  $(-0.41) - (-0.66) =$

(4)  $(-1.72) + (+0.96) =$

(5)  $(-35.4) - (-74.8) =$

(6)  $(+48) - (+106.5) =$

(7)  $(-735.4) - (+482.7) =$

(8)  $(-48.7) - (-820.6) =$

(9)  $(+\frac{7}{5}) - (+\frac{4}{5}) =$

(10)  $(-\frac{1}{5}) - (-\frac{6}{5}) =$

(11)  $(+\frac{39}{20}) + (-\frac{1}{20}) =$

(12)  $(+\frac{3}{7}) + (-\frac{6}{7}) =$

(13)  $(+\frac{1}{2}) - (-\frac{1}{4}) =$

(14)  $(-\frac{2}{3}) + (+\frac{5}{6}) =$

(15)  $(-\frac{5}{12}) + (-\frac{3}{14}) =$

(16)  $(+\frac{7}{8}) + (-\frac{9}{20}) =$

正負の足し算引き算 20-3

次の計算をしなさい。

$$(1) (-0.9) - (+0.4) = \mathbf{-1.3}$$

$$(2) (+0.6) + (+0.7) = \mathbf{1.3}$$

$$(3) (-0.41) - (-0.66) = \mathbf{0.25}$$

$$(4) (-1.72) + (+0.96) = \mathbf{-0.76}$$

$$(5) (-35.4) - (-74.8) = \mathbf{39.4}$$

$$(6) (+48) - (+106.5) = \mathbf{-58.5}$$

$$(7) (-735.4) - (+482.7) = \mathbf{-1218.1}$$

$$(8) (-48.7) - (-820.6) = \mathbf{771.9}$$

$$(9) \left(+\frac{7}{5}\right) - \left(+\frac{4}{5}\right) = \frac{\mathbf{3}}{\mathbf{5}}$$

$$(10) \left(-\frac{1}{5}\right) - \left(-\frac{6}{5}\right) = \mathbf{1}$$

$$(11) \left(+\frac{39}{20}\right) + \left(-\frac{1}{20}\right) = \frac{\mathbf{19}}{\mathbf{10}}$$

$$(12) \left(+\frac{3}{7}\right) + \left(-\frac{6}{7}\right) = \mathbf{-\frac{3}{7}}$$

$$(13) \left(+\frac{1}{2}\right) - \left(-\frac{1}{4}\right) = \frac{\mathbf{3}}{\mathbf{4}}$$

$$(14) \left(-\frac{2}{3}\right) + \left(+\frac{5}{6}\right) = \frac{\mathbf{1}}{\mathbf{6}}$$

$$(15) \left(-\frac{5}{12}\right) + \left(-\frac{3}{14}\right) = \mathbf{-\frac{53}{84}}$$

$$(16) \left(+\frac{7}{8}\right) + \left(-\frac{9}{20}\right) = \frac{\mathbf{17}}{\mathbf{40}}$$

正負の足し算引き算 20-4

次の計算をしなさい。

(1)  $(+0.8) - (+1.3) =$

(2)  $(+0.2) - (-0.1) =$

(3)  $(+0.33) - (-0.22) =$

(4)  $(-0.64) - (-0.7) =$

(5)  $(-86.5) + (+125.8) =$

(6)  $(-67.7) + (+54.2) =$

(7)  $(+14.6) - (+574) =$

(8)  $(-763.3) - (-1217.9) =$

(9)  $(+\frac{1}{3}) - (+\frac{2}{3}) =$

(10)  $(+\frac{5}{8}) + (-\frac{1}{8}) =$

(11)  $(+\frac{11}{12}) - (+\frac{7}{12}) =$

(12)  $(-\frac{2}{9}) + (-\frac{7}{9}) =$

(13)  $\frac{5}{2} + (+\frac{3}{4}) =$

(14)  $(+\frac{1}{2}) + (-\frac{7}{4}) =$

(15)  $(-\frac{3}{20}) + (-\frac{7}{12}) =$

(16)  $(-\frac{11}{6}) + (+\frac{3}{4}) =$

正負の足し算引き算 20-4

次の計算をしなさい。

$$(1) (+0.8) - (+1.3) = \mathbf{-0.5}$$

$$(2) (+0.2) - (-0.1) = \mathbf{0.3}$$

$$(3) (+0.33) - (-0.22) = \mathbf{0.55}$$

$$(4) (-0.64) - (-0.7) = \mathbf{0.06}$$

$$(5) (-86.5) + (+125.8) = \mathbf{39.3}$$

$$(6) (-67.7) + (+54.2) = \mathbf{-13.5}$$

$$(7) (+14.6) - (+574) = \mathbf{-559.4}$$

$$(8) (-763.3) - (-1217.9) = \mathbf{454.6}$$

$$(9) \left(+\frac{1}{3}\right) - \left(+\frac{2}{3}\right) = \mathbf{-\frac{1}{3}}$$

$$(10) \left(+\frac{5}{8}\right) + \left(-\frac{1}{8}\right) = \mathbf{\frac{1}{2}}$$

$$(11) \left(+\frac{11}{12}\right) - \left(+\frac{7}{12}\right) = \mathbf{\frac{1}{3}}$$

$$(12) \left(-\frac{2}{9}\right) + \left(-\frac{7}{9}\right) = \mathbf{-1}$$

$$(13) \frac{5}{2} + \left(+\frac{3}{4}\right) = \mathbf{\frac{13}{4}}$$

$$(14) \left(+\frac{1}{2}\right) + \left(-\frac{7}{4}\right) = \mathbf{-\frac{5}{4}}$$

$$(15) \left(-\frac{3}{20}\right) + \left(-\frac{7}{12}\right) = \mathbf{-\frac{11}{15}}$$

$$(16) \left(-\frac{11}{6}\right) + \left(+\frac{3}{4}\right) = \mathbf{-\frac{13}{12}}$$



正負の足し算引き算 20-5

次の計算をしなさい。

(1)  $(-0.5) - (-1.2) =$

(2)  $(+0.5) + (+0.8) =$

(3)  $(-0.88) - (-0.63) =$

(4)  $(-1.49) + (+0.65) =$

(5)  $(-43.9) - (+47.4) =$

(6)  $(-25.4) + (-23.4) =$

(7)  $(+737.9) + (+901.1) =$

(8)  $(+300.2) + (+850.2) =$

(9)  $(+\frac{3}{5}) - (+\frac{6}{5}) =$

(10)  $\frac{5}{4} + (+\frac{5}{4}) =$

(11)  $\frac{1}{16} + (+\frac{13}{16}) =$

(12)  $(-\frac{11}{8}) + (+\frac{1}{8}) =$

(13)  $(+\frac{5}{2}) - (-\frac{1}{6}) =$

(14)  $(-\frac{3}{2}) - (-\frac{5}{4}) =$

(15)  $(-\frac{1}{16}) + (+\frac{11}{12}) =$

(16)  $(+\frac{15}{16}) - (+\frac{7}{12}) =$

正負の足し算引き算 20-5

次の計算をしなさい。

$$(1) (-0.5) - (-1.2) = \mathbf{0.7}$$

$$(2) (+0.5) + (+0.8) = \mathbf{1.3}$$

$$(3) (-0.88) - (-0.63) = \mathbf{-0.25}$$

$$(4) (-1.49) + (+0.65) = \mathbf{-0.84}$$

$$(5) (-43.9) - (+47.4) = \mathbf{-91.3}$$

$$(6) (-25.4) + (-23.4) = \mathbf{-48.8}$$

$$(7) (+737.9) + (+901.1) = \mathbf{1639}$$

$$(8) (+300.2) + (+850.2) = \mathbf{1150.4}$$

$$(9) \left(+\frac{3}{5}\right) - \left(+\frac{6}{5}\right) = \mathbf{-\frac{3}{5}}$$

$$(10) \frac{5}{4} + \left(+\frac{5}{4}\right) = \mathbf{\frac{5}{2}}$$

$$(11) \frac{1}{16} + \left(+\frac{13}{16}\right) = \mathbf{\frac{7}{8}}$$

$$(12) \left(-\frac{11}{8}\right) + \left(+\frac{1}{8}\right) = \mathbf{-\frac{5}{4}}$$

$$(13) \left(+\frac{5}{2}\right) - \left(-\frac{1}{6}\right) = \mathbf{\frac{8}{3}}$$

$$(14) \left(-\frac{3}{2}\right) - \left(-\frac{5}{4}\right) = \mathbf{-\frac{1}{4}}$$

$$(15) \left(-\frac{1}{16}\right) + \left(+\frac{11}{12}\right) = \mathbf{\frac{41}{48}}$$

$$(16) \left(+\frac{15}{16}\right) - \left(+\frac{7}{12}\right) = \mathbf{\frac{17}{48}}$$